
Perturbaciones Eléctricas por conducción y por 
acoplamiento. Norma UNE 26-438-94 (ISO-7637-1:1990)

Impulso de ensayo 1
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Parámetros:
VB=12 V
VS=0 a -100 V
Ri= 10 Ω
td= 2 ms
tr= 1 µs
t1= 0,5s  a 5 s
t2= 200 ms
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Impulso de ensayo 2

Parámetros:
VB=12 V
VS=0 a 100 V
Ri= 10 Ω
td= 50 µ s
tr< 1 µs
t1= 0,5 s a 5 s
t2= 200 ms
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Impulso de ensayo 3a

Parámetros:
VB=12 V
VS= 0 a -150 V
Ri= 50 Ω
td= 0,1 µ s
tr< 5 ns
t1= 100 µ s

Impulso de ensayo 3b
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VB=12 V
VS= 0 a +100 V
Ri= 50 Ω
td= 0,1 µ s
tr< 5 ns
t1= 100 µ s

t1

t4 t5

td

t1

t4 t5

td



Impulso de ensayo 4
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t6= 4 0 m s

t8= 4 0 m s

t7= 2 0  m s tf= 6 0 m s

V s=  6  V V a=  5  V
Parámetros:
VB=12 V
VS=-6 V
Va=-5 V
t6=40 ms
t8=0,5 s
tf=60 ms



Impulso de ensayo 5
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tr=6 ,3  m s

td=266 m s

V
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Parámetros:
VB=12 V
VS=86,5 V
Ri= 0 Ω
td= 266 ms
tr= 6,3 ms
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Impulso de ensayo 6

Parámetros:
VB=12 V
VS=-86,5 V
Ri= 0 Ω
td= 295 µs
tr= 43 µs
t1= 15 s
t3= 0 µs
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Impulso de ensayo 7

Parámetros:
VB=12 V
VS=-80 V
Ri= 0 Ω
td= 100 µs
tr= 6 ms
t3= 0 µs




